Variable Speed Pump

Controller.
Model: PC310

r
Constant pressure control.
Use one inverter only.
Easy to use.
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9. Mode switch.

Level switch: 3 electrodes
Floatless relay. Available expand to
4 electrodes.
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Relay output.. 1A, 250vac NO
contact. .

Power Supply: 220vac.
Dimension; 203x148x95 mm?



No.2 Pump 3 No.3 Pump

No.3 Pump

No.1 Pump » No.1 Pump 3 No.2 Pump »
Inverter (x1) Stop Inverter (x1) Stop Inverter (x1) Stop
L No.2 Pump No.2 Pump j L No.3 Pump No.3 Pump j L No.1 Pump No.1 Pump J
DOL (x2) Stop DOL (x2) Stop DOL (x2) Stop
L No.3 Pump N No.3 Pump L No.1 Pump N No.1 Pump L No.2 Pump N No.2 Pump
DOL (x3) Stop DOL (x3) Stop DOL (x3) Stop
L)
Vsd 3 pump + 1 inverter.
PC310 =
- 5 = =
aERELE
Moo | [ral =
t 1 |
Close: Vary spaed. | | |
Open: On-Off, | I |
Pressure
Transducer T S
0-10bar -
ferrite
| 0 8
— IS
[PRERNPRRRRDRRRQX)] e
@ * 3 B 2 spx sz 2 2 2 O C O ere
Z o8 3 2 IFE "~ 5 5 8 Lk C 10V input -
0O =z @ - T o B (=] o + =
0 Lo} [u1] Cad M3 -
b 0 = o E m
5 3= = w
= =% w
z 2

K1 K2 | KS

@Ex
@ES
()| E2
(E

@Low level
(GlNv1
®DOL1
(IINv2
@DoLz

FWD.
Run

o

[3%]

o
2
-

-
-
o
-~
-

K1

Pump1

K3

K4

Pump2

K5

Pump3




